BT TRIA O - HEHHEE X T ﬂﬁﬁkjeﬁosﬁ KIRHE
+H- I:I - 3 I:I
BT T2 | MR T8 T = BT T2 | MR8 T =%
HRX 39,069 86,592 41,299 45293
RIRET1T 6 15 9 6
RIRET2T 29 59 28 31
RIRET3T 178 582 284 298
RIRET4T 404 981 488 493
B 617 1,637 809 828
REH 2,670 6,165 2,883 3,282
L&A 4214 9,402 4,413 4,989
5E 2,585 6,002 2,926 3,076
5 WA 1,265 2,855 1,327 1,528
BERT 1,325 1,975 938 1,037
BER2T M 1,420 694 726
BHERST 387 847 406 441
g 2,483 4,242 2,038 2,204
BARE 277 673 343 330
= 2,206 5,175 2,458 2,717
hERE 622 1,426 650 776
e 2,472 5,244 2,535 2,709
25 L ET 2,309 5,133 2447 2,686
B &AL BT 79 161 65 96
HEFILET1T 562 1,194 563 631
HEFILET2T 620 1,354 641 713
HEZFILAT3T 623 1,438 709 729
g 1,884 4,147 1,978 2,169
B & it B Fr ET 677 1,598 781 817
BHEREBET1T 600 1,240 595 645
BHERERET2T 775 1,759 847 912
BHERERETST 781 1,668 765 903
HERERET4T 488 987 470 517
HEHFMHETST 825 1,717 803 914
HEHFHET6T 886 1,967 952 1,015
HEFRET7T 877 1,895 917 978
HERERETST 70 221 105 116
£t| 5302 11454 5,454 6,000
HEF R FET 1,870 3,938 1,919 2,019
S|EFET1T 575 1,541 768 773
S|EFET2T 764 1,792 849 943
S|EFET3 T 729 1,415 640 775
g 2,068 4,748 2,257 2,491
ERE1T 573 1,348 645 703
EIRET2T 390 1,050 527 523
EREIST 482 1,314 644 670
EIRETAT 693 1,506 673 833
EIZEIST 490 1,011 514 497
g 2,628 6,229 3,003 3,226
MEH 2,809 6,303 2,981 3,322
J\THET1T 35 37 13 24
J\THET2T 27 70 34 36
J\THEI3T 49 114 50 64
B 111 221 97 124
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